ESS 35 LP
bovendeel

| Onderdelentekening

Elektrowerkzeuge

@EIBENSTOCK

70

43

73

11 (10x)

16

71

18

00

11 (6x)

72

Wijzigingen voorbehouden

03/23




03/23

EIBENSTOCK

Elektrowerkzeuge

| Onderdelentekening

ESS 35 LP
tank

Wijzigingen voorbehouden




EIBENSTOCK

12.926.01 - ESS 35 LP

Elektrowerkzeuge

mrt-23

Positie Artikel Artikelomschrijving Aantal Positie Artikel Artikelomschrijving Aantal
1 12.945.01 Steunbeugel ESS 35-serie 1 St 31 12.945.26  Bevestigingshuis inlaat ESS 35 1 St
2 12.945.02  Handgreep ESS 35-serie 1 St 32 12.945.27  Inlaatstuk ESS 35-serie 1 St
3 10.203.77  Vierkante moer M8 2 St 33 12.945.28  Inlaatstuk beves. ESS 35-serie 1 St
4 10.213.90  Schroef M8 x 16 2 St 35 12.945.29  Metaalschroef M4x12 6 St
5 12.945.03  Kartelknop met schroef M8x80 2 St 36 12.945.30 Contactclip set ESS 35-serie 1 St
6 12.945.04  Ruststuk A draaibare deel 2 St 37 12.945.31  Afdichtingsset ESS 35-serie 1 St
7 12.945.05  Ruststuk B as deel 2 St 38 12.945.32  Ventiel tbv duwmagneet 2 St
8 12.945.06  Deksel ESS 35-serie 1 St 39 12.945.33 Duwmagneet ESS-serie 2 St
9 12.945.07  Iso. schuimring ESS 35-serie 1 St 40 12.945.34  Motorschild onder 1 St
10 12.945.08  Motorhuis boven ESS 35-serie 1 St 41 12.944.15  Centreerring A EPS 50 1 St
11 12.945.09  Schroef, parker 4.8x30 55 St 42 12.944.16  Ventilatormotor EPS 50 1 st
12 12.945.10 Motorhuis midden ESS 35-serie 1 St 43 12.945.35  Pakking motor ESS-serie 1 St
13 12.945.11 Motorhuis onder ESS 35-serie 1 St 44 12.945.52  Printplaat ESS 35 LP 1 st
14 12.945.12  Luchtrooster ESS 35-serie 1 St 46 10.206.73  Plaatschroef HC 3,9x13 (kruis) 11 St
15 12.945.13  Trekontlasting ESS 35-serie 1 St 47 12.945.37  Uitblaas filterset ESS-serie 1 St
16 40.440 Aansl.snoer HO7RN-F 3x2.5 5m 1 St 48 12.945.38  Motor filterset ESS-serie 1 St
17 12.945.51  Siliconenkap ESS 35 LP 1 St 49 12.945.53  Frontplaat ESS 35 LP 1 St
18 12.945.15  Bevestigingsplaat ESS 35-serie 1 St 50 12.945.40 Inbouw schuko zwart 1 St
19 12.945.16  Filter bevest set ESS 35-serie 1 St 51 12.945.41  Drukknop tbv filterschakelaar 1 St
21 12.945.17  Beves. clip set ESS 35-serie 2 St 52 12.945.42  Schakelaar tbv filter 1 St
22 12.945.18 Opvangbak ESS 35-serie 1 St 54 12.945.44  Schakelknop aan/uit 1 St
24 12.945.19  Schroef parker 4x20 14 St 69 99.999.99  Niet leverbaar 0 st
25 12.945.20  Onderstel ESS 35-serie 1 St 70 12.945.47  Set draadjes tbv Schuko 1 St
26 12.945.21  Rem set ESS 35-serie 2 St 71 12.945.48  Aardedraad ESS 35-serie 1 St
27 12.945.22  Wiel achter ESS 35-serie 2 St 72 12.945.49  Watersensor draad ESS 35-serie 1 St
28 12.945.23  Wielas set ESS 35-serie 1 St 73 12.945.50 Set verbindingsdraadjes 1 St
29 12.945.24  Zwenkwiel ESS 35-serie 2 St 75 10.575.46  Sluitring 8,4 2 St
30 12.945.25  Stop tbv inlaat ESS 35-serie 1 St

Wijzigingen voorbehouden




	12.926.01 - ESS_35_LP_Version01
	12.926.01 - ESS 35 LP



